Assembly Instruction

Model : 049-000072

.

Hardware List

No. SHAPE DESCRIPTION Qty.
A| & |8x25mm Dowel (Wood) 49Pcs
15MM
B % Myfix Minifix 17Sets
C| —<==@ |M3.5x16mm Screw 26Pcs
D | e | M4x45mm Screw 25Pcs
E| X% |MT Stopper 4Pcs
F %% 2 Pin Magnet 2Sets
G| ~ |Handle 0S128 3Pcs
H| «www® | M4x28mm Screw 6Pcs
I'| QY |5/8Nail With Pin 9Pcs
J| — | 6/8 Power Pin 30Pcs
K gé Drawer Slide 300mm 1Set
L| € | Sticker 4Pcs
M| &%= | Nylon SP/Pulg - Blue #8x2" |6Sets

/

"L" Shaped - Right

d-Le ,




Assembly Instruction

Part List




K | g====| Drawer Slide 300mm - L | 1Pc

Assembly Instruction

A| & | 8x25mm Dowel (Wood) |49Pcs

Step 1

N o
[&]
|5
o
IS
3 8
£ |2
© |2
(O]
S| =
0| 8
S| A
O | x

Step 2




Assembly Instruction

Step 3

& | 2 Pin Magnet

2Pcs

Step 4

Myfix

17Pcs

Step 5

e | \]4x45mm Screw

6Pcs

Step 6

5/8 Nail With Pin

5Pcs




Assembly Instruction

Step 7

B

&2

Minifix

6Pcs

Step 8

J

—

6/8 Power Pin

15Pcs

e | \]4x45mm Screw

2Pcs

Step 10

M4x45mm Screw

1Pc




Assembly Instruction

Step 11

Step 12

@ T
@) | Minifix

1Pc

Minifix

2Pcs

Step 14

Handle 0S128

1Pc

M4x28mm Screw

2Pcs




Assembly Instruction

IS a
g | = %

_

£

318

S| Q £

™ o
Se P
E|lo =
|9 2
x | O o]
n| = pd
0| 8 ©
=0 frs
il 5
O | X —
(o) (o]
— —
o o
Q Q
) 4
0p] 0p]
0| o 1%}
CDl (&S]
w1 @
[a'd

£

51 5

5| S 3
0w =}

)

= e
g1S 5
X | O o)
7e) <
o | 3
=0 =
i M
O | X ]
Lo N~
— —
o o
O ()}
L e
7)) 0p)]




Assembly Instruction

Step 19

B

Minifix

4Pcs

Step 20

6/8 Power Pin

15Pcs

Step 21

<}y | MT Stopper

2Pcs

Step 22

M3.5x16mm Screw

6Pcs




Assembly Instruction

Step 23

<@ | M3.5x16mm Screw

1Pc

F

2 Pin Magnet

1Pc

Step 24

G

Handle 0OS128

1Pc

M4x28mm Screw

2Pcs

s | \4x45mm Screw

2Pcs

Sticker

2Pcs

Step 26

M4x45mm Screw

2Pcs

Sticker

2Pcs




Assembly Instruction

M4x45mm Screw

4Pcs

@&

Step 28

Minifix

4Pcs

<}y | MT Stopper

2Pcs

M3.5x16mm Screw

6Pcs




Assembly Instruction

Step 31

<y

M3.5x16mm Screw

1Pc

F

2 Pin Magnet

1Pc

Step 32

G

Handle 0OS128

1Pc

M4x28mm Screw

2Pcs

Step 33

s | \4x45mm Screw

4Pcs

6Pcs




